

# Quantization of the sum of products of consecutive reciprocals

Boris A. Kupershmidt

University of Tennessee Space Institute, 411 B.H. Goethert Parkway, Tullahoma, TN 37388, USA

The classical formula:  $\sum_{k=1}^n \frac{1}{k(k+1)} = \frac{n}{(n+1)}$  is quantized.

---

**Theorem 1.** For  $n \in \mathbb{Z}_{\geq 1}$ ,

$$\sum_{k=1}^n \frac{1}{[k]_q^\sim [k+1]_q^\sim} = q - \frac{q^{n+1}}{[n+1]_q^\sim}, \quad (1)$$

where

$$[x]_q^\sim = \frac{q^x - q^{-x}}{q - q^{-1}},$$

is the second quantization of  $x$ .

**Proof.** The formula follows at once, if we take an obvious formula

$$[n+1]_q^\sim = q[n]_q^\sim + q^{-n}, \quad (2)$$

and divide it by  $\frac{q^{-n}}{[n]_q^\sim [n+1]_q^\sim}$ , resulting in the telescopic formula

$$\frac{1}{[n]_q^\sim [n+1]_q^\sim} = \frac{q}{[n]_q^\sim} - \frac{q^{n+1}}{[n+1]_q^\sim}. \quad (3)$$

Summing it up on  $n$ , we get (1), because

$$\frac{q^1}{[1]_q^\sim} = q. \quad \blacksquare$$